Which pair of pronouns is best to complete the sentence below?

1) The teacher split __________ into teams. __________ were

batting; the other team was fielding.

                      Tick one.

	

	

	

	


they     Them   
us        We

her      She

them    I
2) The tins of beans were on such a high shelf that __________ had to ask someone to help __________ .

                      Tick one.

	

	

	

	


he     him   
she    his
they   our

him    them
3) The teacher split __________ into teams. __________ were

batting; the other team was fielding.

                      Tick one.

	

	

	

	


they     Them   

us        We

her      She

them    I
4) The teacher split __________ into teams. __________ were

batting; the other team was fielding.

                      Tick one.

	

	

	

	


they     Them   

us        We

her      She

them    I
5) The teacher split __________ into teams. __________ were

batting; the other team was fielding.

                      Tick one.

	

	

	

	


they     Them   

us        We

her      She

them    I
6) The teacher split __________ into teams. __________ were

batting; the other team was fielding.

                      Tick one.

	

	

	

	


they     Them   

us        We

her      She

them    I
